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R o | FRAEA | &E
o—F Ehh Sk | PR {kg) 2 (M) it i EAE B M (Bfir)
30300 | AB , 6 1,298 218 216 216| B A Bkg
31200 1L ‘ ' 10 648 32 11 11| BN 505
Y3014 |RiR3E 4 518 32 32 221 BN 193
31700 |F% 2y 30 2,592 864 864 864| B 34— R
31800 HES HLAE 14 4,109 86 65 38| B S8
31900 (R E - 6 3, 156 540 540 540| P kg
34100 |#10 5 297 16 16 5 B 257
35100 1 AT A 4 1,242 432 324 162| By Py 4kg
35220 | & Ha SR 2 1,814 = 756 756 756 B P 2kg
36303 | AFyTEEIALS 3 1,625 594| - 486 486 | BP9 3kg
Y3033 | 22T 10 1, 836 184 184 184| B 5N 10ke
36200 |HE&E 20 1,728 . 119 54 54| By 20kg
Y3044 |EIFE(E) 15 810 54 54 54| BN 15kg
37200 L X 5 21 3,128 216 130 130 | B P 21ke
33300 |Fowzl)— 18 B, 480 108 108 108| &M 60E
36340 | & LS REE . 5l 14, 289 356 356 32| B 51kg
40910 |/hB i (HEXR) 39 5,616 432 432 432| BN 13% v b
Z1011 P AT L—gh : 42, 240 72 72 44| BT 680A
30100 |7 T A . M 32 3,110 26 36 86| IR B 364
30300 | A 100 17,928 2, 160 1,728 1, 728 | =R 104 — A&
30300 | A& ' 2L 90 18, 524 1,838 1,836, 1,836 =i 94— R
31100 |33 300 11, 232 756 540 540 |RB A 204 — R
31100 1A3E 105 4,752 864 648 648 | B8 IR & Tr—2A
33810 'HEE 4 432 22 22 2 BERE PAE
Y5005 | %7K A _ 6 1,728 1,728 1,728 1,728 K4y 14— A
31700 |F v Y ‘ 30 3, 240 1, 080 1, 080 1, 080 | B 34— R
31700 &5 2 ! 7,452 864 864 756 | BRI o 94— A
31700 |%F 4w B 60 2,916 486 486 486 |1 B 64— A
31800 1€ 9 AE : 6 2,592 86 86 86 |1& 3048
31950 |AR#E 8 18 6, 696 1,296 1,080 1,026 ARG 84— A
31900 (i ¥ ‘ ‘ L 20 19,440) 4,860 4,860  4,860|FIRE 45— R
34300 |29 L 15 4, 968 1,728 1,728|  1,512{RBA 34— A
34308 |HFFF ' _ C4| 702 54 54 54| fBH 13K
34400 | = b ‘ ' 7 2, 851 119 119 119| A 24,8 &
34400 | b= | _ L 4 3,240 3,240 3, 240 3,240 | fEA 14— R
34100 &A1 60 12, 528 1,620( 972 972|EIRE - |120—2
34100 |HE , o2 - 15 3, 240 1,080 1,080 1, 080 | E I 3hr— A,
36200 | 2L 100 14,040  1,404]  1,404]  1I,404|dtden 1047 — &
36600 |[ToFE i ¥ LR 60 18, 792 6, 264 6,264 6, 264|db¥EHE 34 —R
33410 |[Yr=— L ¥ A _ L 3 o7z - 65 65 65 | 48 [l 1518
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d e | R At l =R
a—F i &k | Bk (ke) SRE(H) i i i EE HL (BAr)
33120 |0 —r U —T LR 3 648 43 43 salpek 15(B
33600 |/ Y ¢ 108 108 108 1088 15
33600 |k i 518 173 173 173\ K4 35
31310 | A3 4 2,808)  2,808| 2,808| 2,808|EMA 1r—2
31500 |/NEASE 4 1,512 76 76 76| 45 204%
37560 |5 1 3, 888 389 389 389 K4y 1038y
38400 |2 DEHF 6 3,240 - 3,240 3, 240 3, 240 | F I 1r— A
38521 | SRR LY LE 3 3,240) 3,240 3,240 3, 240|%EF A
40100 |F i As 3L 190 15, BGO 1, 080 648 540 AR 194 — 2R
42133 |/ RA—} 5 1, 296 1,296 1, 296 1, 296 | £ 14— A
Y4017 [P &l 20 5, 832 2,916 2, 916 2,916 | E 5 24— A
43610 |EHNE M 25 4,536 1,080 864 648 | 1B 7 5Ar— 2R
43810 | AIEHE 1 1,210 173 173 173 L3t T4 7
45503 by K& a—7 1 842 281 281 WBUTAVE (35w
Y4056 |F Y —2 v — R LR 1 1,026 378 324 324|7 AU 38w
Y5000 ([{E#HTXIB L 10 1,620 162 162 162|FE 25 10kg
it 1,662 301, osal L \
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